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General Instructions :

(i) « This question paper contains three parts A, B and C.

(ii)  Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.
(iv)  All parts of the questions should be attempted at one place.
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Part- A
(Aécounting for Not-for-Profit Organisations, Partnership Firms & Companies)
HAT-F '

(mwﬁm WIHTRT B a1 HW (4T & o sraiee)

1. What is the basis for preparing an Income and Expenditure A¢count in the case of
Not-for-Profit Organizations.

STOTHRRT TR o el H 372 T = Al T 7 SR 7 8 2

2. . Distinguish between Fixed and Fluctuating Capital Accounts.

w@wqﬁqﬁﬁﬁ@ﬁﬁmﬁml

3. State the two main rights that a newly admitted partner acquires in the firm. |

& 3 YT SR T S HH H U T MR ST AT ¢ |

4.  How does the market situation affect the value of goodwill of a firm ?

Tk Y i TG % Yo ot IR Rf fpg wepr werteres eett € 2

5. Pass the necessary Journal entry when 10,000 debentures of ¥ 100 each are issued as
-collateral security against a Bank loan of ¥ 8,00,000.

T 800000%%@%%&? 1oom$1oooomaﬁwmﬁ%sw%q&r%mﬁ
forife e W STaeae ST W ST | :

6. From the following information of a club show the amounts of match expenses and
match fund in the Financial Statements of the Club for the years ended on 31"
March, 2009 and 31* March, 2010.

Details o Amount
3
Match expenses (paid during the year 2009 —2010) . 30,000
Match Fund (as on 31-3-2009) ,, 17,000
Donation for Match Fund (Received during the year 2009 — 2010) . 9,000
Proceeds from the sale of match tickets (Recewed during the year 2009
-2010) 3,000
| 67/1/1 | v | 2




Freeiae o QU o7 3 31 A, 2000 T 31 W1, 2010 Y FEI @ 1 S ) Ay
= T T I ! 0t = fir feraron § et

formor |  ufw
o | z
9 =3 (9§ 2009-2010 H e ) L 30,000
A9 I (31-3-2009 = 9) | 17,000
T % forg 3 (T 2009-2010 % ZRH) | 9,000
o feeet ot fasht @ wifes (ad 2009-2010 7 wife) 3,000

7. Y Ltd. purchased furniture costing ¥ 1,35,000 from A. B. Ltd. The payment was
made by issue of Equity Shares of ¥ 10 each at a discount of ¥ 1 per share. Pass
necessary Journal entries in the books of Y Ltd. 3

are i 3 T 1,35,000 To o TR 31 9 o1, @ s fopan | e 31 mm%@ﬁ? 10.
WS o TET 319 % fRTe g femer a1 ang T, o QA H svawees s ufafesa
T | . | -

8. X Ltd. redeemed 100, 6% Debentures of ¥ 100 each by converting them into Equity
Shares of ¥ 100 each. The 6% Debentures were redeemable at 10% premium for
which the Equity Shares were issued at 25% premium. Pass the necessary Journal
entries for the redemption of above mentioned debentures in the books of X Ltd. 3

T A 3 T 100 w@s & 100, 6% FOTS 7 YA ¥ 100 o & auer 39w o uRafea
Tk TR | 6% SROTas! o U 10% o Wifies o1 FeAn oy feraes fore wwan ofet w0 e
25% Wit w fear e | we fo. @ qRasl § SWie RmOITEl % wiee % fow snavasw
ST Hiafesat SHi |

9. A and B are partners in a firm sharing profits and losses in the ratio of 3 2. The
following was the Balance Sheet of the firm as on 31-3-2010.

. Amount Amount
Liabilities : Assets
4 - 4
Capitals: A 60,000 | Sundry Assets 80,000
B 20,000 | |
80,000 80,000

The profits I 30,000 for the year ended 31-3-2010 were divided between the
partners without allowing interest on capital @ 12% p.a. and salary to A @ ¥ 1,000
per month. During the year A withdrew ¥ 10,000 and B ¥ 20,000.

Pass the necessary adjustment journal entry and show your working clearly. 4
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10.

T W T HH % IEER 9 a9 3 : 2 F A § T Sed & 1 31-3-2010 % H
fRorfer feramor fe wrepme o

3 | z
Ot &% 60,000 | Ty wmfet 80,000
e ] 20,000
80,000 | 80,000
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A business has ea"rned average profits of ¥ 1,00,000 during the last few years and the
normal rate of return in similar business is 10%. Find out the value of Goodwill by

(i) - Capitalisation of super profit method and

(ii)  Super profit method if the goodwill is valued at 3 years purchase of super
profit.

The assets of the business weré T 10,00,000 and its external Iiabilities

¥ 1,80,000.

11.

U Hear el T @t ° T 1,00,000 1 S o1 ST AT & lzﬁrw%sﬂwﬁ
it St WA X 10% € | T Rl B o6t TUHT ST

() e Yetreor Aty 5T o
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Pass the necessary Journal entries for the issue and redemption of Debentures in the
following cases :

(i) 10,000, 10% Debentures of ¥ 120 each issued at 5% premium, repayable at par.

67/1/1

(i) 20,000, 9% Debentures of ¥ 200 each issued at 20% premium, repayable at
30% premium.

frfatas worE & Friee ud viea & foe savgs Osmmr wafsest ST
(i) 10,000, 10% T ¥ 120 wcdsh 1 Frme 5% S o g7 < ¥ ied WaF & |

(i) 20,000, 9% oI I, 5Tt T 200 T&F F &, 20%%1:%%&3%&@’%&30%
TR Y |




12.

From the following item of Receipts & Payments A/c. of Young Ladies Club,

prepare an Income and Expenditure Account for the year ended 31-3-2010.

Salaries paid
Lighting and Heating
Printing and Stationery (including ¥ 500 for the previous year)

Subscriptions received (including ¥ 2,000 received in advance
and ¥ 5,000 for the previous year)

Net proceeds of Refreshment Room
_Miscellaneous expenses |

Interest paid on Loan for half year

Rent and Rates (including % 1,000 prepaid)

Locker rent received

Additional Information :

3

50,000 -

5,000
3,500
40,000

- 45,000

16,000
1,200

7,500

4,500

Subscriptions in arrears on 31-3-2010 were ¥ 8,000 and Half year’s interest on

loan was also outstanding.

I ey Fore ot FrfertEe Wife Uet ST @ st Hel @ 31-3- 201061%%‘@6{&%%{13
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fafay =
T IR 3T S ShY SATST AT A foall
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srfafieaa o= : |

31-3-2010 T ¥ 8,000 =T ST 4T T 60T T ST I 67 1T 37 20T |

50,000
5,000
3,500

40,000

45,000

16,000
1200

7,500
4,500
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13.  Pass the necessary Journél entries for the following transactions on the dissolution of
the firm of P and Q after the various assets (other than cash) and outside liabilities
" have been transferred to Realisation Account.
(i) Bank Loan % 12,000 was paid.
(i1) Stock worth ¥ 16,000 was taken over by partner Q.
- (iii) - Partner P paid a creditor ¥ 4,000. ’
(iv) An asset not appearing in the books of accounts realised ¥ 1,200.
(v) Expenses of realisation ¥ 2,000 were baid by partnerlQ.
(vi) Profit on realisation ¥ 36,000 was distributed between P and Q in S : 4 ratio.
ferfere wrefvral (g % SHaReR) o AT S ) el e R e % e
T I % Tame & g Pretolad eeAt % e Wﬁmuﬁf@mﬁﬁq
(i) ¥ 12,000 = F0T 1 A T T |
(i) WEER T 16,000 F ©E o o | ‘
(i) TR T U SR W T 4,000 ST T B |
(iv) e Tt foreent v et W e o7 a9 T 1,200 W §g |
(v) el =g T 2,000 T A WEER #5 F fF | |

(vi). %razawmaooo%waﬁa@a@ﬁwaqﬁ 5: 4émgmaﬁfamﬁva%m
' &

14. On 1° April, 2008 a company made an issue of ¥ 2,00,000, 6% Debentures of ¥ 100
each, repayable at a premium of 10%. The terms of issue provided for the
redemption of 400 debentures every year starting from the end of 31-3-2010 either
by purchase from the open market or by draw of lots at the compémy’s option.

On 31-3-2010, the company purchased for cancellation 300 Debentures at 95%
and 100 Debentures at 90%.

Pass the necessary Journal entries for the issue and redemption of debentures
assuming that the company had already created the Debenture Redemption Reserve
A/c by the required amount.

Waﬁvﬁ‘r#laqﬁazoosaﬁﬁ€200000%6%mwaim?100$Ten e o,
foreroht ST 10% oo W & o7 | Fries o1 ol % SF7ar e ufty o 400 sorgl
T 7 T G AR W KT F A1 G A X 31-3-2010 F SR R |

31-3-2010 =1 T 4,300 F0T9T FRET F & 7T 95% W 100 0T 90% T
w3 o |
| Tg T gU fF et A aTreyas T o wieE T H e S gs &, ROaE &
ot o viae =) Savass Ao wiaftedt s |
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15. X Ltd. issued 40,000 Eqﬁity Shares of ¥ 10 each at a premium of ¥ 2.50 per share.

The amount was payable as follows :

On application — 2 per share
On allotment ~ — ¥ 4.50 per share (including premium)
and on call -~ 6 per share

Owing to heavy subscription the allotment was made on pro-rata basis as

follows :

(é) Applicants for 20,000 shares were allotted 10,000 shares.
(b) Applicants for 56,dOO shares were allotted 14,000 shares.
(¢) Applicants for 48,0001 shares were allotted 16,000 shares.

It was decided that excess amount received on applications would be

utilized on allotment and the surplus would be refunded.

Ram, to whom 1,000 shares were allotted, who belong to category (a),

failed to pay allotment money. His shares were forfeited after the call.

Pass the necessary Journal entries in the books of X Ltd. for the above

transactions. : _ 8
OR

Give Journal entries to record the following transactions of forfeiture and re-issue of

shares and open share forfeited account in the books of the respective companies.

(i) C Ltd. forfeited 1000 shares of 7100 each issued at a discount of 8% on these
shares the first call of ¥ 30 per share was not received and the final call of T 20
per share was yet to be called. These shares were subsequently re-issued at

%70 per share ¥ 30 paid up.

(i) L Ltd. forfeited 470 Equity Shares of ¥ 10 each issued at a premium of ¥ 5 per
share for non-payment of allotment money of ¥ 8 per share (including share
premium T 5 per share) and the first and final call of % 5 per share. Out of these

60 Equity Shares were subsequently re-issued at I 14 per share.

67/ ' 7 , - [P.T.O.
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16. M, N and O were partners in a firm sharing profits and losses equally. Their Balance

67/1/1

Sheet on 31-12-2009 was as follows :

Liabilities Amt, Assets Amt.
3 3

Capitals: M 70,000 Plant and Machinery 60,000
N 70,000 Stock 30,000

O 70,000 |2,10,000 | Sundry Debtors 95,000

General Reserve 30,000 | Cash at Bank 40,000
Creditors 20,000 | Cash in Hand 35,000
2,60,000 2,60,000

(iv)

N died on 14" March, 2010, According to the Partnership Deed, executors of

year’s profits and

the deceased partner are entitled to :
(1)

(ii)
(iii)

Balance of partner’s capital account.
Interest on Capital @ 5% p.‘a.
Share of goodwill calculated on the basis of twice the average of past three

Share of profits from the closure of the last aécounting year till the date of

death on the basis of twice the average of three completed year’s profits before

death.

Profits for 2007, 2008 and 2009 were ¥ 80,000, ¥ 90,000, ¥ 1,00,000 respectively.
Show the working for deceased partner’s share of goodwill and profits till the date of
his death. Pass the necessary journal entries and prepare N’s Capital Account to be

rendered to his executors. 8
. OR .
On 31-3-2010 the Balancxe Sheet of W and R who shared profits in 3 : 2 ratio was as
follows : :
Liabilities Amt. Assets Amt.
k4 ‘ i
Creditors - 20,000 | Cash 5,000
Profit and Loss Account| 15,000 | Sundry Debtors 20,000
Capital Accounts : - | Less: Provision _700 19,300
W - 40,000 Stock 25,000
R 30,000 70,000 | Plant and Machinery 35,000
Patents 20,700
1,05,000 1,05,000
On this date B was admitted as a partner on the following conditions :
(@) ‘B’ will get 4/15" share of profits.
9 [ P.T.O.




(b) ‘B’ had to bring ¥ 30,000 as his capital to which amount other Partners
capitals shall have to be adjusted.

(c) He -would pay cash for his share of goodwill which would be based on
2’2 years purchase of average profits of past 4 years.

(d) The assets would be revalued as under :

Sundry debtors. at book value less 5% provision for bad debts. Stock at
< 20,000, Plant and Machinery at ¥ 40,000.

(e) The profits of the firm for the years 2007, 2008 and 2009 were ¥ 20,000;
¥ 14,000 and ¥ 17,000 respectively.

Prepare Revaluation Account, Partner’s Capital Accounts and the Balance
~ Sheet of the new firm.

| @,quaﬁ@ﬁ%a@méwm-mﬁw%ﬁ 1 31-12-2009 =t 3= fafa
faaeor i yem W o

Jgad Tt
- _z 3

geit: T 70,000 | BRERCRNIEN] 60,000
W 70,000 i - 30,000

o 70,000 2,10,000 | fofag 3eR 95,000
[T | 30,000 | ¥ Wwe 40,000
AR 20,000 | THE &R 35,000
| 2,60,000 2,60,000

14 7T 2010 ) T 1 36 & T | WEER WohE ¥ SR 5 EER ¥ Frome
F g ar:

() WERR % S Ed 9 |
(i) IS IR 5% wiqad st g @ ST |
‘(iii) @T&fﬁwaﬁmﬁaﬁaﬁqaﬁsaﬂ’aﬁw%wm%wwﬁm |

(iv) Tt Sraie o & qurd 9 Su g 0t Rifer o oy st st Tt o e %
el 3 Tl X A o SR T 3 SR 9 SR W SR |

2007, 2008 7= 2009 3 a1t & ferw & sHT: 80,000, T 90,000 T ¥ 1,00,000
o7 | A% WIEER o S & 9T i T2 TG i 19 T I8 o % AT Hl 70T Hi11Q |
TS VST Hfafeedt S T T o Fsameent %1 TKa A 3 [o70 IHeRT ol @ (ar
HT |
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ST

131-3-2010 T T T AR FRIGRT, ST AT 6 3 2&:343%-&@&}9} 1 fRaf feraror

Ty g o
| z z
| SRR 20,600 g 5,000
| wr-g 15,000 | farfr= &7rere 20,000
| ofr ECEICUIC I __700| 19,300
&g 40,000 @i % | 25,000
ST 30,000 70,000 | ¥ T TEt 35,000
T (Ye2) 20,700
1,05,000 1,05,000

- 67/1/1
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i) wﬁa‘raﬂgﬂﬁmﬁmw@%mm:

IR T 0o B ¥ g BON & 1T 5% o wiEEe @ ge Y, =i < 20,000 JA
G931 wa AR ¥ 40,000 |

(T) 2007, 2008 =T 2009 T ¥ fw wH F W HEE: T 20,000; T 14,000 T

Z17,000 ¢ |

.Wﬁm@mmﬁ%iﬁaﬁwﬁwﬁm@ﬁﬁmﬁﬁﬁml
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17.

18.

19.

20,

21.

Part-B

(Financial Statements Analysis)
T -
(fareit faramont =t fergetwon)

What is meant by a ‘Common Size Statement’ ?

“HIATY 3R foraRor 1 o 37 el & 7

Give the meaning of ‘Cash Flow’.

g WA T 37 AT |

State with reason whether deposit of cash into Bank will result into inflow, outflow
or noflow of cash. '

T Flew TR 6 71 AFg F TP H ST FRAT Ahg 1 2fTAE, dfealE YT HIE YR
BT | ‘ |

List the items which are shown under the heading current liabilities and provisions as
per Schedule VI Part-I of the Companies’ Act, 1956.

FIOHT T 1956 @ gt VI 91 3 SFER o16] S9arstl aur WadH S & Srd
I ST STet Tt Bl e S e |-

Prepare a Comparative Income Statement from the following information.

2009 2010
3 4
Sales 10,00,000 12,50,000
Cost of goods sold ©5,00,000  6,50,000
Carriage inwards 30,000 50,000
Operating expenses 50,000 60,000
Income tax 50 % 50%
- Tefefiea e @ oo 3T fqeRor a9y
2009 2010
‘ 3 I

fosrg 10,00,000  12,50,000
9 T HTeT i AT 5,00,000  6,50,000
TS ST 30,000 50,000
JA &g 50,000 60,000

HTHT 50 % 50%

67/1/1 12




- 22

On the basis of the following information, calculate :

(i)  Debt-Equity Ratio and
(1) Working Capital Turnover Ratio
Information :
Net Sales
Cost of goods sold
Other current assets
Current liabilities
Paid up share capital
6% Debentures
9% Loan
Debenture Redemption Reserve
Closing Stock
frfafad o= % 3MUR W 7oy AR
(i)  HO-GEAT AT AT
(i) PRIEET YsT ST AT
AT <

3

60,00,000
45,00,000
11,00,000
4,00,000
6,00,000
3,00,000
1,00,000
2,00,000
1,00,000

3

60,00,000

45,00,000

11,00,000
4,00,000
6,00,000
3,00,000
1,00,000
2,00,000
1,00,000

23.  From the following Balance Sheets of Vijaya Ltd. as on 31-3-2009 and 31-3-2010

67/1/1

Additional Information:

prepare a Cash Flow Statement.
" Liabilities 31-3-2009| 31-3-2010 Assets 31-3-2009 | 31-3-2010
, 3 3 3T 3

Share Capital 45,000 65,000 | Fixed Assets 46,700 83,000
General Reserve 15,000 27,500 Stock 11,000 | 13,000
Profit & Loss Account 10,000 15,000 | Debtors 18,000 19,500
"Trade Creditors 8,700 11,000 | Cash 2,000 2,500

Preliminary
Expenses 1,000 500
78,700 | 1,18,500 78,700 | 1,18,500

(i) Depreciation on Fixed Assets for the year 2009-2010 was ¥ 14,700.
(i) An interim dividend ¥ 7,000 has been paid to the shareholders during the year, 6

13
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17.

18.

19.

20.

21.

67/1/1

31-3-2009 w1 31-3-2010 i foran fa. & frafafan Rk foeon & e vamw

)

%GTUTEFH'&'Q:
S 31-3-2009 31-3-2019 wefordt 31-3-2009 | 31-3-2010
Z 4 4 Z
39T oIt 45,000 | 65,000 | T Gt 46,700 83,000
T W 15,000 | 27,500 | @7 11,000 13,000
=BT @ 10,000 | 15,000 | SR 18,000 19,500
| =TI TER 8,700 | 11,000 | JFe 2,000 2,500 |
I | o = 1,000 | 500
78,700 | 1,18,500 78,700 | 1,18,500
arferfer AT |

& 2009-2010 o for Wil eufral W Heeer T 14,700 o1 |

(i) o % SR aFeriEt Wi T 7,000 w1 SR S fa gy |

Part-C

(Computerised Accounting)
HRT -7
CEREIGERIEIET))

What is codification of accounts ?

Gl = SR & & 2

What are logical values ?

TR o FATE ?

What is a query ?
TE (F) T8 ?

What is a recbrd in DBMS ?
ST, ¥t st ey ?

Why in DBMS do we seek to split formation into different tables rather than a single

table ?

< e, o et o wrol @ anen fafi wrchrt o e i awa €2
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22.

23.

Briefly explain the Accounting Information System.

TG o oTelt S 9 § qerey |

Calculate the formula on excel for the following :
Dearness allowance
35% of basic pay upto ¥ 15,000, Minimum Z 4,000
30% on above basic pay ¥ 15,000, Minimum 6,600

House Rent Allowance

- Upto basic pay of T 8,000 - ¥3,000
% 8,001-15,000 basic pay % 6,000
Above ¥ 15,000 basic pay - 9,000

City Compensatory Allowance :
10% of basic pay subject to a minimum of ¥ 1,500

}ﬁm%rﬁaa%%qua@awmﬁﬁﬁmﬁm: |

67/1/1

HETS el |

% 15,000 T & & e R 35% =7em T 4,000

¥ 15,000 ¥ e 7ot 907 R 30% FaH 2 6,600
¥8,000TF F gA AT R - . %3,000
¥8,001-15,000 g@a &k faw  ¥6,000
T15,000¢ ssFg@aaTFHfem T 9,000
R gifer afer = | |

et & # 10% a9 T 1,500 -

15

3x2=6




